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(Furwo @32 BB PR R NS i), rroned 1150
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(10)
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(12)
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380dRod BB 2 Rowaness.
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53 BET WAL wed) 90 JQRMY FRBE IRBERNT.

YUZONIR) FRoTROWRNS FeomN BB08, WES TEF RECING. BEIROD B BRNOTE HO0T WL
TOIRFOITRTRN BFNYRI), BABEONT. WY, 03peTy HUZTNTIT BOIRFOD TRPOFRTOT [LOF IR
NIRBTF0Y, ZRCOATOZ FLOTOWRD. YVTm - BF BRROT 6T $0ZT 2 i3S T EeedTOZ FZRI) peor N
300R0.

o 353.6- D@D @

3INTOZ FROTCWAT YVZTNY Wi} AT BRERMROY,

DWOO®

20T BIR 10TE08 ), BIFINIY, FROTPONRT LUFTNW, SWBR VR FROTWOIRT VT NRIT
SlpiavielSplepialo)

2550 BROTIDOWAT HUBT WHTHOWIL) IR

TOSRE oD YVZT BRROBNIR) 37, wpam O WPC® BIVOT FpeotmodRIeR. FIOVOT FROTOAT VTN
1 T BRERMROL,

BB FEBoD BEodeomd BT 391 3082 Femed FE Hoed 3w, FUTHN O FYRD WENT ©Qodde 31,
TOORE TRBIeD.

Toegrt WO QT Fed ATARBO0T womd BIK HET AR WORTT, BoodI B WRRO. TN Bed TS
PITOZ TINY Wi B, ToDZ BREO.

IRRTe B0 Iy, [ BReRNOTT T i BOARFHeRE Fme BOCE Feon, FXRUTT 3T PO BRBEWITR).
gémqm BRFSe eeR/B), STemm wii Ay O3 @decﬁﬁoﬁo&l FICDRI LFem TOTTO Ne3IETRHT0O
U ST ST ROV,

MSCE w39, (R05080) dego 0vgd Arw BeRd 10 QSnvY, teew /3R wins/IAnvsy
ST GRS, BRCOTOWRLIER).
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QNN - 1

IR

33 3=R02 01 003 03. T Foomn AR :
29N NORRERY LOD. ©TC U GPenDR FINY LugtnYRy FodmeaDhios HO%D.

Qe3d JINRET BRATOM. ST ACBNT. @tﬁg@od @ed&q BoBEBON WPRLIER. BR300

QeSR), VO wIBRTIR. $RNJTS Fowd 0BT SWIY, WOBITTT LRROOWRY, tITHUE.
TFoDY, BROIVT JeTZY, DT FWTY, ARIE. STWOY, FRO WFTOZ HNT BT
5363@ QeTd BORCEIVPTOoT BBRery z%mqﬂdogd. SQE0T DD FFFEON TOT TRENTOZ
DWTBEATE. WHAT QeToNY, FF0 VeTond WY, BOMOEOZ FH BRBELIER. BTOOT
WOBRFOT WP, TOINERTLY AT TONOZT.

01.

02.

03.

ST, BINTLO T 08B AT, BRI ?
(1) =9, e (2) ¢ I
(3) wadg, dewd (4) 37, Qe

£90BWED ab@%dd;’p:{ imoj%éroe{)@o TOR) obddzl BRBELIeB 9
(1) e3> TOT BREMOTOZ RRETLIEBD

(2) 2e03Q, TP WITOZ DT BRI

(3) D F0TY, VoNOTOZ THE WRTWLICE.

(4) RS BJOI TR

‘wmte’ 8 BWS é)daz:’gg @z;ﬁrdz’p:{ BRTOE BN %Y NBLRNRTY, oD ?
(1) =RQ (2) dween
(3) wBreny 4) woTTT
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04.

X

3
B3NS odpery, GVZTRYR) TOIRFCDNPOT SORD.

QL

&L &L

CNOISTATIC Y E’Ooi
So000300%0 3T
FOTI0W @5@ 2,08
20030 wednogen ||1]|

NIR T 2GTR
AINR 20x0330 ?
BTVBBEDD FTOIRPE),
AIRR Hezo3d |12

WY WOT NOTOONE,
0333 R0F 203030
99 Q08 IHHODE,
D3 candd Ressd 3

T3 DIATTR
30BRBS Jexd

BeT DROTT P
PR e Fed. |4

TO0I00ID 08030 O3IEYTONOBLR A&OIPNTS 2

(1) 2Bezd (2) e
(3) =33 4) Be

B@R0o8 04 00T 06 T BeomoN et : TENT BB L.OD. WET F9R FedepnTd:s

SPACE FOR ROUGH WORK
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05. 3IINTYINSY, BT o8, MOTIERD.
(1) RBSoDY, ToWODR) RLFIT> 3RTR AL,
(2) TOWO e8N0BR R RSP,
(3) o0 IR Fed SN
(4) BoTAIR B0 YL T PVAT0.

06. o003 OTNT ™INT wj\ FRZ0NG, TeFPNY, ?

(1) =R»eTS (2) ATTEeZ
(3) @=p 4) 28

07. 3INT BORFODNIYOD Godpery DFeRDRY, WReRODT, TOOSRD.
(1) wdod @R (2) o) o
(3) n&Es3 4) oG o

08. ‘Ioedy’ 83 33 o MOTBAD

(1) DBesden PR, (2) IJDozz Don
(3)  agdon 4)  oer

09. ‘B B I33 wBREI I3 IR ?
(1) o3 2) Son=p
(3) o 4) 30T

10. 2oy, @*"w%oda %agd ﬁcﬁa@@@eoﬁa ? :’%ng FOR FRDD DNEY’ B8 méagd@w @a@add
QTR w@ﬁeﬁo WORRN ?
(1)  Rwedh (2) 20D
(3) 4) 2D

SPACE FOR ROUGH WORK
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11.

12.

13.

14.

15.

16.

3INT BOIRFODNYY, BoTea 3y, SRR ?
(1) owoPs 2) Qdwows
(3) oy 4  Qnoys

‘BRORT’ T3 BIIDROD ©@PF 03N ?
(1)  2ofzed 2) w8 Tesd
(3)  BQODE), NOTD (4) 3D 2R

TOIRFONTYD  odeery wdd@% S0 BYNT 3398, Fpeor B[RRO.
esFodoe et

(1) 2o3r 2) @

() sgRg (4) RodneRs

ROMEasE QONEXTY, DFoW FTOT[TO 2
(1) 20e33Je® (2)  ouT°
(3) Hewwoes (4) sompuo

BIERR0z 15 00T 178 Aeomon Aewd @ NS RoRons BOWFHE Buwedd ST RYR),

3
.00 @By LUZTNEDY TOIRFOALT SO,

WOT DY), DTRPFNLD € w0 Fe0TY).

(1) Bmoones (2) =prz

(3) 3 4) =ne

TOSOL 00, T 9330 mda&@éﬁ a’ga{@d& ESQLFRTITO.

(1) wo. opogRy 2) wo. W ATEW 03eEET
(3) FToRE HFOBTRO FHTD (4) @ 2.2.8 LN TR0

SPACE FOR ROUGH WORK
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17.

18.

19.

20.

21.

22,

PR BoGRT SONIRE BT T TFRD T OTBI AT Q0T 3302T3R).
(1) 83 oF 2) =3 o3
B3) SmEFOS 4) 998 O3

‘PUTR B3 BT AVRT STPF FRRE BE 03RRI ?

(1) =33y (2) @3
(3) Qooxs (4) oz

PR 8 BOE WWFE TS SRPI> 2
(1) =y 2)  RgeeTy
(3) ey (4) en=es

FINT dperdd BnYY s wWeel SRR ?
(1) 7R3> - %OoH 2) ™3 - FHF
(3) S8 - o3 4 Ry - 3

‘o W T o © B8 @gpmfs% UTOIRENY BOIROAT WHFIPEF BT [GFLPNTE,
20 @TT IR ?

(1 == 2) ™

3) © 4) o

‘RS, TR0, NORE, DOTE, VBT’ 5 FURYRY [FEOFRITWTN Wi WFTY,
2TE Be) BRI ?

(1) ooz 2) TeB

(3) R (4) o

SPACE FOR ROUGH WORK
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23.  NIPNIEY, noodrt Fetd BT 1oT0ER0. 06

DB, BT, W, IO o6\

(1) & 2) o2 gg

OO\

3) =o 4) oW i

OOy

24, RO3E SITYE (FRT) CRURURE B3y CIRHRO ? BN
(1) =omoaes o3 Q) a3 w3 gg

(3) =q e (4) wRosds S

25. @oém@%ﬁ To0T o080 WOST T[He0 WP 0INTD ?
(1) Roed 38R0 (2) BT DOODRT,
(3) 3O Wy, (4) Hoedo Znexd

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

SECTION - 11

MATHEMATICS

How will you write 500 in Roman numerals?

(M
)

L 2) C
D 4 M

What is the place value of ‘4’ in 10.345?

(M
)

0.004 2) 40

400 4) 0.04

If [ ]2575 — [ |836 = 28739, then which digit will be in the box?

(M
3)

2 2) 3
5 4 6

If the lengths of the sides of an angle are increased, then how does it affect the

measure of the angle?

(M
2
3)
)

measure of the angle increases
measure of the angle decreases
measure of the angle remains the same

measure of the angle is doubled

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

500 83 RosB030R) BremdT FosTUTONY, Tert WIok0TT 2

(1)
€)

SECTION- 11

neds

L 2) C
D 4 M

10.345 25 Rosiohd, 4 T WIF B ), |

(1)
€)

[ 12575 — [ 1836 = 28739 gelate [ ] o3 @08 T ?

(M
€)

3ReST 0B RN TS Ted), TRRWN CRTW WRRRH SMOTE 2

(1)
2)
3)
4)

0.004 2) 40
400 4) 0.04

2 2) 3
5 4 6

30T w98 BRI,

BRIT ©¥E FRBOTPMITT.
3RS 998 wF, ePoR0TT.
3ReIT g 9TBROIRROTS.

SPACE FOR ROUGH WORK
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30. 55462 =[]

7 7
(1) 11174 ) 11479
¢) 12 @ 2

31.  Write the number in figures,
‘Eight abja eighty thousand eight hundred and eight’.
(1) 8,08,00,808 (2) 8,00,80,808
(3) 80,00,80,808 4) 8,00,00,80,808

32. Length of the radius of a circle is 2.5cm and length of a chord of the circle is
3cm. What is the length of the longest chord of the circle in cm?
(1) 6 2 5
3 3 4) 55

33. How many composite numbers lie between 1 to 100?
(1) 75 2) 25
(3) 24 4) 74

34. What type of angle will be formed, if two lines are perpendicular to each other?
(1) obtuse (2) right
(3) acute (4) reflex angle

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

34.

3 4
46— =
5o+6, =]

7 7
() 11 ) 1l

(3) 12 4 =

DOED ), DOWBY TORVTTID, VO JRTD, DO &3 :3093;0335& Tert WB030TT.
(1) 8,08,00,808 (2)  8,00,80,808
(3) 80,00,80,808 (4) 8,00,00,80,808

RBFYT g 2.5 A Q0. WY 2wy 3 A W, 95T TFYD 2QER, BRT WT @I
SR, ?
(1) 6 3. w. (2) 53 0.

(3) 3 3. . @) 55 % .

1 20z 100 T TR ), BoO30T BoBNess ?
(Hy 75 (2) 25
3) 24 4) 74

TOIT ©owRTIR 0B FeRMT 03 FREETY, VoL SRS 2
(1) Qi (2) BoeBRe

(3) oPdees (4) TR

SPACE FOR ROUGH WORK
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35. If the numbers 32996, 39296, 229997, 39096 are written in descending order,

then what will be the sum of the first and third number in that arrangement?

(1) 269093
(3) 269293

36. If the circumference of a circle - shaped garden is 88m and Swara takes 5 rounds

to the garden daily; Then how much distance does she cover in a week?

(2) 72292
(4) 262993

(1) 3080 km (2) 380 km
(3) 3.08 km (4) 3.8 km
37. By how much is the sum of biggest 5-digit number and biggest 2-digit number
is greater than the smallest 3-digit number?
(1) 1,00,098 (2) 99,998
3) 99,999 (4) 1,00,198
38. Pradeep bought a mobile for Rs. twenty two and a half thousand and sold the
same for Rs. nineteen thousand eight hundred and seventy. How much was his
loss?
(1) Rs. 2880 (2) Rs. 2600
(3) Rs. 2630 (4) Rs. 3000
4 4 4 4 4 4
39. 3+3+3+3+3+3_E
24 20
M @ 5
24
G o “4 38

SPACE FOR ROUGH WORK
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3s.

36.

37.

38.

39.

32996, 39296, 229997, 39096 =3 #o@%ﬁ%ﬁ@t BPFCL TEOWE) WITN WRTOZCIL
WY WARTIOD ﬂo@%oja 230020 @;’@w 2

(1) 269093 (2) 72292

(3) 269293 (4) 262993

88 Qoe. TOPRTON JBoFvEgs Wymoad Feodn BEQT 5 BT TIROBW. ToMenT
BB %wOoT TTTY, HR), FEToBMRI ?

(1) 3080 3o¢ (2) 380 3¢

(3) 3.08 saoe 4) 3.8 saoe

5 ©0803 HQBR TRR Foad wTY 2 wotcd 2R BRE Fod vRNG w3edwd 3

@

908030 @@gﬁ@mﬂ zséé ;ﬁo@%ﬁoé eba?é?od ciracéc@d 2
(1) 1,00,098 (2) 99,998

(3) 99,999 (4) 1,00,198

BOTRO BHFTBOBRT MWRTE, BRROER0R Feejw TIROWDY AT 08D JRTD DT
dp. NYR SN0 [IRRET @RIK B3 IRHOCY, 8T T AR, ?

(1) 2880 3. (2) 2600 Tn.
(3) 2630 3. (4) 3000 Tn.
4 4 4 4 4 4
A T T T .

24 20
(D 18 2 3

24
G A @ 3

SPACE FOR ROUGH WORK
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40.

41.

42.

43.

Swarda deposited Rs. 25,000 in a bank at a rate of 8 p.c.p.a for 6 years. How

much interest will she receive after 6 years?

(1) Rs. 12,000 (2) Rs. 2,000
(3) Rs. 1,500 (4) Rs. 1,200
. 75 2 8 : : :
If the fractions, 9°9°9° 9 are arranged in ascending order, then what will be
the sum of first and third fraction in that arrangement?
14

1 1 @

14 5
G o @ 1g

While writing the number, ‘Seventy lakhs and Seven’ in figures, Ishwari wrote
one zero less between the two sevens. Then by how much is the number that
Ishwari wrote is more or less than the given number?

(1) more by 77,00,014 (2) less by 77,00,014

(3) more by 63,00,000 (4) less by 63,00,000

Which is the biggest fraction among the following?

8 8
(D 10 2 100
8 8

3 To00 “) 10,000

SPACE FOR ROUGH WORK
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40.

41.

42.

43.

Ao T ©. F. 3 8 IBRoR 25,000 Te. NEDy 6 [TRENG IV RN wHen
@ —_

TBRTCINT ITPW AR, ?
(1) 12,000 3». ) 2,000 Gw.
(3) 1,500 3. 4) 1,200 Z».
ey S Roaligdh, DOFCD BTOHY WITRR LT RGeS 3 et
F0s3030 30w DR, ?
14

(1 1 o X

14 5

G) ¢ @ g

DTFY UF, D0 B B3R LBCIN BIBOOIN TR T N WOFTY, 2,070 AT,
B WITW. TMRTT R WIT BB ot Bk, Fof N0 DTOOT éa&zd T30
BRI VT 2

(1) 77,00,014 ooz ), (2) 77,00,014 007 3@

(3)  63,00,000 bow G, (4)  63,00,000 003 3@

IINSINGY, DgR, TRR CTPFRFoE IR ?

n @ oo

8 8
) 1000 “) 10,000

SPACE FOR ROUGH WORK
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44.

45.

46.

47.

Xy y z
+ x z z vy

y.oy o yy
Which digits will be there for x, y and z respectively?
(1) 4,3,0 2) 2,4,2
3) 3,6,2 4) 4,8, 0

In a transaction, the cost price is Rs. thirty two hundred and eighty and the selling
price is Rs. thirty four hundred and seventy. Find out whether the transaction
had profit or loss and by how much?

(1) Profit of Rs. 180 (2) Loss of Rs. 190

(3) Profit of Rs. 190 (4) Loss of Rs. 170

Which of the following diagram represents the fraction 2?

60
(1) )
3) 4
Find the alternative which does not fall in the group.
(1) 7x7=+7x5=35 2) 12-3-5+10=14
3) 5x3+4x2=170 4 10-2x3+5=9

SPACE FOR ROUGH WORK
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44.

45.

46.

47.

Xy y z
+ x z z vy
yoyoyy
X, ),z © BP0, 330mN widE Wosneeny ?
(1) 4,3,0 2) 2,4,2
3) 3,6,2 4 4,80

RRB|ITR [RT> HoWBY TR BROBUS =B [oRBNE: L) BRTY WTFY TR. BRI
S 980 B3 FRHOTY, T oy WFw Tod SR, ?

(1) 180 Se. ooz 2) 190 3e. T
(3) 190 Se. o3 4) 170 3e. T2
$INSRYY, iR 3 éf) B CRErosn IRRIBY, STIERFOY FOFRBI) ?

(M 2 %

3) 4

o239, R0 BeoTT TeIRFOD CARPTR> 2
(1) 7x7+7x5=235 2) 12-3-5+10= 14
(3) 5x3+4x2=70 4 10-2x3+5=09

SPACE FOR ROUGH WORK
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48. Roshni started her studies at half past eleven in the morning and finished at
quarter to two. For how much time did she study?
(1) 3 hours 70 minutes (2) 2 hours 45 minutes

(3) 2 hours 15 minutes (4) 2 hours 30 minutes

49. What is the difference between the biggest 3-digit even number and the biggest
2-digit prime number?
(1) 900 (2) 901
(3) 902 4) 903

50. One of the Zilla Parishad schools have 60% girls out of 120 and a private
secondary school of the same village has 55% girls out of 200. Find out the
total number of girls in that village going to school?

(1) 172 (2) 38
(3) 182 4) 110

51. What number should be subtracted from six and three quarters thousand to get
the biggest two digit number ?
(1) 6751 (2) 6651
(3) 7026 4) 7126

SPACE FOR ROUGH WORK
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48.

49.

50.

51.

CR3V RO 53@9&56 Foudn @@Sﬂi BOPB) 20TV mat@o FOER OTF BT
URP 2R, Bed VNI TRRTW 2

(1) 3 Pod 70 R (2) 2 o 45 R

(3) 2 o 15 R (4) 2 o 30 R

DYBR, TR, BweTos0dd AR Foad, B HQFR, BT HTRosOD B0y VWNTYLD
RIT/ISE, ?

(1) 900 (2) 90l

(3) 902 (4) 903

W, BORTT 2,000 ZIODY 120 Qe&FRY F3 60% ToEINDOTRT &ile nwdI,
09BN BRTOT ZSONY 200 DAY T3 55% BOEINOOTRT TS & 0T
SR FROTOZT BORN0DT Bosd, 2R, ?

(1) 172 2) 38

(3) 132 4) 110

NP BOTEO AWDNTHOT DR, WS TRESRN DTHOFOD QIR BRT, T
ioielovbbrctniily

(1) 6751 (2) 6651

(3) 7026 4) 7126

SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

Julie collected Rs. 10 daily in her money bank from 12th May to 26th June. Also
she added Rs. 100 given by her uncle and Rs. 240 given by her father to buy
a cake for her birthday. She donated the total amount to Chief Minister Relief
Fund. How much money did she donate to the Chief Minister Relief Fund?

(1) Rs. 790 (2) Rs. 350

(3) Rs. 800 (4) Rs. 780

Jeevan went to a bank with two notes of each Rs. 50, Rs. 100 and Rs. 500. He
asked for notes of Rs. 20 in return. How many notes of Rs. 20 will he receive?
(1) 60 (2) 65
3) 55 4) 63

Find such a number which when multiplied by itself the product we get is equal
to the product of all the divisors of 27.

(1) 529 2) 27

3 9 4) 18

Solve : 27 ~3 + 6 x 5 =27

(1) 75 2) 15
27
(3) 39 @) 33

Dhanesh bought one and a quarter meter of cloth for pants and one and three

quarters meter of cloth for shirt. How much meter of cloth did he buy?
(1) three (2) three and a quarter

(3) two and a half (4) three and three quarters

SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

RO 12 e QoB 26 BRT 81 BREODY OANTEFRY, BE O 10 Te. =N
TRETW. WTIY, BRED TBEVFYE e, 100 Sp. =B o030 Fez Fwomen EL,
240 Sp. 3RRA k), BEVTRY, WVATO0Y, ATICNTITOW FRLFL 7 ToMBT Wesed
%m%oé& mm% 9

(1) 790 Gn. 2) 350 dn.
(3) 800 . 4) 780 Sn.

BemI3e 50 de. 100 Te =23 500 Se 1Y BT 0B IpeednIRy W 0snY, Ened),
S TOT WHEON STOH, e, 2000, Jpceed IREBRET @i Andwm 200R Sredny
"o, R, ?

(1) 60 (2) 65

(3) 55 4) 63

cdnm Fod R wde Fosd000T MOBATRN WIE MOFFTR) 270 wd), QYRRINY

MOmoT0 QTOZT
(1) 529 (2) 27
3 9 4) 18

27 =3 +6x5=am)?
(1) 75 2) 15
(3) 39 @
33
Fe3[I> 0LMON 2WOTD TP T TWBY HLFTRN 2,000 TTYLD QLT W,
BRCOBROET 0 .83, DR, Q03T 2, DOCDATZO ?
(1) oo (2) TR T
(3) «TE>=T (4)  BweDd =0T

SPACE FOR ROUGH WORK
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57.

58.

59.

Soham was born on 15th June, 2011, which was Thursday. Which was the day
on his 5th birthday?

(1) Tuesday (2) Thursday

(3) Wednesday (4) Friday

Find the percentage of the shaded portion in the following diagram.

]
N
]

L b,

1 2% 2) 25 %
3) 6% 4 75 %

Side of an equilateral triangle is 10cm. A square of perimeter same as to the
perimeter of an equilateral triangle is drawn. What will be the side of the square?
(1) 30 cm (2) 8 cm
3) 7.5 cm (4) 10 cm

SPACE FOR ROUGH WORK
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57.

58.

59.

AReTROT wy 15 wes 20118 MOTRT Bomd SoWBd TGS &s 586 BoW, T,
oIRw AT IR ?

(1) Swongeed (2) nodo=d

(3) wozpwmd (4) zwT

@B EONY, POIR0TE RIRRT PNG B3T VR, ?

1 2% 2) 25 %
3) 6% @ 75 %

2000 AR SERCTT G 10 B, e, [T, 8 SEACTT BOSONF, BOWE [T
WPTITD), SR ¥ WPOIE @ SR, ATER 2

(1) 30 3. oe. (2) 8 3. woe.
3) 7.5 3. e 4) 10 3. oe.

SPACE FOR ROUGH WORK
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Q. 60 and 61
Answer the following questions with the pictograph given below:

G
(scale : 1 % = 25 students)

Types of Game Number of students

| E R
N ITIX:
o BEEEEE
o |4 &

60. How many times are Kabaddi players to the Basket ball players?
(1) 50 2) 3
(3) 150 4 5

61. By how much is number of Cricket players and Basket ball players less than
number of football players and Kabaddi players?
(1) 75 (2) 50
(3) 25 4) 150
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B3 60 <03 61

60.

61.

SN U TRT [pI0D BERONOT BBT FWNT IRV ¢3S BowS0.
G
(Bmmes 1 % = 25 OB

BT TTT DTRF Toss,

e B EGE

o BEAEE
"N ITIIT
o | i

TG, SBT DTYHFNY 05,0300 mmim PO BETW DTHFNG BB DR, Ted),

QT ?

(1) 50 2 3

(3) 150 4 5

3Bes 0=y wWRe Y BN WP B0, VW PLLPO W FWE WEEHT
RTHFAYN0Z HFOOT BRR AT?

(y 75 2) 50

(3) 25 4) 150
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62. How many times are the number of edges of cuboid to the number of surfaces

of cuboid?
(1) double (2) three times
(3)  half (4) four times

63. In Nana Patil’s farm house, there are 300 sacks of grains. Out of which 35%
sacks are of wheat, 20% sacks are of Jowar, 15% sacks are of Tur dal and
remaining are the sacks of Soyabeans. Find the number of Soyabean sacks at
the farm house.

(1) 60 (2) 120
(3) 105 4) 90

64. Find the length of wire required to fence 3 times the two sides of a square
shaped ground having area 144 sq. m.
(1) 48 m 2) 144 m
3) 72 m 4) 24 m

65. In the month of May, two and a quarter lakhs tourists visited Mahabaleshwar and
three quarter lakhs visited Ajanta - Verul caves. How many more tourists visited
Mahabaleshwar than Ajanta - Verul caves?

(1) 75,000 (2) 1,25,000
(3) 3,00,000 4) 1,50,000

SPACE FOR ROUGH WORK

0801 / Kannada Set-A 26 of 32 Contd...



62.

63.

64.

65.

QTNIGOD @orNY Fod 03 BRFIWEON FFNY FoBFod aF), e, AT ?
(1) o8& Te, (2) B e,

(3) wgr Ze, (4) Do We),

%), 23ONT SFDY, 300 HIT wWeontvs wINE, 20% weedd, 35% ReeQod,
15% 3on3 WBePodd Tonp LVPTRHNG ARCOIPWET NG WBeONTsS TMmns ©ns BT
QTE AReCPWET'T wWeond HR), ?

(1) 60 2) 120

(3) 105 4) 90

144 2P, Q0¢ FEZPONTOD w00 WPTAWFS FHTTE, FeI© HTBEY WA ZRTO
BEOT 8080 e TOBLO Wi, DR, LVTRTIT o0& IeTMITTO 2

(1) 48 e, (2) 14.4 Qoe.

3) 72 oe. (4) 24 Qoe.

e onY TTOWTSTE DTOT FLO ©F TN Geed VeRW3TD [Ty w0,
DERETINET BOTLD ©F, TIWANTY ¢3eed VeRTW TMPTET SOTHWEESTE, DT, T3,
TEANTY geed eRTWTO 7

(1) 75,000 (2) 1,25,000

(3)  3,00,000 4) 1,50,000
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66. 552 minutes = ....ccceeee...... hours and ............... minutes.

(1) 9,52 (2) 5,52

3) 9, 12 4) 5,12
67. 2400 papers = ....ccoeuneeen. Ream papers.

(1) 100 2) 75

3) 50 4) 5

68. Ramu purchased 45 litres milk with the rate Rs. 35 per litre. He sold all the
milk with profit Rs. 315. Find the selling price of milk per litre.
(1) Rs. 37 (2) Rs. 38
(3) Rs. 42 (4) Rs. 44

69. A wire measuring 15 m, 50 cm was divided equally into 10 parts. What is the
length of each part?
(1) 155 cm (2) 155 m
(3) 150 cm 4) 150 m

70.  Akash purchased a cycle for Rs. 3250 and sold it for Rs. 2375 after a year. Did
he make profit or loss and how much?
(1) Profit of Rs. 775 (2) Profit of Rs. 875
(3) Loss of Rs. 775 (4) Loss of Rs. 875

71.  If divisor = 105, Quotient = 4250, Remainder = 75, then dividend = ?
(1) 446250 (2) 446325
(3) 446225 (4) 446625
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66.

67.

68.

69.

70.

71.

552 QEWRNLD = tvevverenrenennns el T QOVRNLD

(1) 9, 52 2) 35, 52
3) 9, 12 4) 5, 12

2400 FNBNLY Q033 @d% OR TNHNTY ?
(1) 100 2) 75
(3) 50 4 5

TR 35 de T Oewd TIRoB 45 DT TV, DORITR). & 9, TR WBW 315
OR. Y SRCIBRR B[R BRRTI TorwEs OIS TE Oet3TH =0 S @:% 9

(1) 37 g (2) 38 dn.
3) 42 °e. (4) 44 dn.

15 Qe 50 Z.aoe evgggad oo, 10 FRRT N [IRERTIN B3RO GRNT
emz:’ggé @mwmwcﬁa 2

(1) 155 Z.Qoe. (2) 155 woe.
(3) 150 #.&0e. 4) 150 <oe.

3250 Tp nert DORT :q;%@@ SBIDT) WOTD BRFT 03T 2375 TR NYR JnOTI
ORI B FITORY, ST Y TP TR R, ?
(1) ooy 775 3». (2) o3 875 Tn.

(3) @2 775 . (4) = 875 In.

Pws = 105, pmwd = 4250, 3eR = 75, 80 %, = R, ?
(1) 446250 (2) 446325
(3) 446225 (4) 446625

SPACE FOR ROUGH WORK

0801 / Kannada Set-A 29 of 32 P.T.O.



What will be the cost of the cloth purchased at the rate Rs. 52 per meter for

25 students each requiring one and a half meter ?

(1) 1950 (2) 1850
(3) 2050 (4) 2150
Solve :

%-F%X% =7

n @
®) 1o @

Kerela express starts at 4 : 10 in the morning from Nagpur and reaches
Tiruvananthapuram at 14 : 15 the next day. How much time does it take to travel
from Nagpur to Tiruvananthapuram?

(1) 34 hours 5 minutes (2) 34 hours

(3) 22 hours 5 minutes (4) 26 hours 15 minutes

In Saraswati Vidyalay, 24 packets of milk having each 500 ml of milk was
bought and was heated. It was distributed equally among 60 students. Find out
how much ml of milk was given to each student.

(1) 250ml (2) 150ml

(3) 200 ml 4) 175ml
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72.

73.

74.

7S.

25 DERFRYMON TEOIRLON 2.08RRT Q0ewT Wi, 52 Tr. B 0eesT B0 ORI
QT 2,830, DWF R, ?

(1) 1950 2) 1850

(3) 2050 4) 2150

WERAO

7 3.4 _

47475 =7 .
10 11

m 2 @
19 14

3 1 @

TNTPTOOT B0 4:10 8 ey, 3eTY DTFD® oo B0 14:15 3 sdmFogedort
BT, TR FNFPOLOT ToRTOBFRTO BOTL0 FOR tIegors [ed ), ?
(1) 34 otd 5 ORAD (2) 34 ot

(3) 22 Fo 5 IR (4) 26 Fod 15 AWRA

A0S Q@EADTY, 500 0.0 T 24 TOF W Ford LTI FOWR 60 FoFYA
ABRT BoET BEoIAWOR HR), Toew BRIV ?

(1) 250 <0.9¢ (2) 150 &0.9¢

(3) 200 0.9¢ 4) 175 &0.9¢
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